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Question  
part  

Annotation  

(a)  

The  candidate  has  explained  a  move  into  Australia  as  a  strategic  
response.  

• The  positive  impact  is  holistically  at  Merit  level.  More  potential 
customers  (“what”),  because  they  are  operating  in  two  countries 
(“why”)  –  this  evidence  was  provided  on  page  2.  This  will  increase 
revenue  and  profit  (“how”)  on  page  3.  The  evidence  from  page  3 
alone  is  Achievement,  so  the  suitable  evidence  on  page  2  has  been 
used  to  supplement  it.

• The  negative  impact  was  explained  only,  and  therefore  this  is  only 
Achievements level  evidence  –  costs  will  rise  (“what”)  because  they 
will  need  to  expand  the  fleet  of  planes  (“why”).  A  Merits level 
response  would  then  discuss  the  impact  on  the  business.

• The  conclusion  discussed  the  need  for  capital  and  merely  extends 
the  negative  impact,  and  is  therefore  not  Excellence.  An  Excellence 
candidate  would  have  drawn  from  the  context  to  discuss  how capital  
may  be  available  through  the  positive  relationship  with financial  
institutions.  

(b)  

A  candidate  demonstrating  an  in-­depth  understanding  should  be  able  to  
discuss  an  authentic  agency  that  supports  New  Zealand  businesses  

going  global.  The  impact  on  the  business  was  not  provided  either.  This  

response  was  recognised  as  Achievement-­level  evidence.  

(c)  

The  impact  of  rangatiratanga  on  sustainability  is  fully  explained.  New  
ways  to  package  food  are  researched  (“what”)  because  they  are  

showing  leadership  and  ownership  (“why”).  This  would  cause  an  

increase  in  customers,  revenue,  and  profit  (“how”).  

(d)  

The  candidate  has  suggested  that  the  airline  should  pass  the  increased  
fuel  costs  onto  customers.  

• The  positive  impact  was  fully  explained  –  both  costs  and  revenue

rise  (“what”),  because  increased  fuel  costs  are  offset  by  higher

ticket  prices  (“why”),  leading  to  maintained  profit  margins  (“how”).

• The  negative  impact  is  only  explained  –  customers  might  not  be

able  to  afford  higher  prices  (“what”)  because  they  are  outside  their
budget  (“why”).

• The  conclusion  does  not  add  to  the  answer  –  an  Excellence
candidate  might  understand  that  the  impact  of  raising  prices  may

be  negligible  when  the  changes  in  fuel  costs  are  worldwide,  and

therefore  will  impact  on  all  air  travellers.

The  candidate  has  offered  sufficient  Merit  evidence  to  be  awarded  M5.  
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